
Amacher Lecture 6, 9/15/08

LECTURE 6: TETRAD ANALYSIS; GENE CONVERSION
Reading: Ch. 5, p 142-151; Ch. 6, p 192-194
Problems: Ch. 5, solved problem III, also 28a, 29ab, 30, 32, 34, 35; Ch. 6, #30, 31

TETRAD ANALYSIS IN FUNGI
In the diploid organisms that we’ve considered so far, each individual represents only one of four
potential gametes that are produced from each parent in a single meiotic event.  We don’t know
which of the other progeny in the cross are created by gametes produced by the same meiotic
event.  So we have to analyze large numbers of progeny and use statistics to establish linkage (or
lack thereof) and to do mapping.  By contrast, some yeast species house all four products of a
single meiosis in a sac called an ascus.  The haploid cells are called ascospores (or haplospores)
and can germinate and live in the haploid state, growing and dividing by mitosis.  Thus,
phenotype equals genotype in these haploid cells!  We will review tetrad analysis in Baker’s
yeast, Saccharomyces cerevisiae first, then tetrad analysis in Neurospora crassa.

Life cycle of Saccharomyces cerevisiae (p. 144).  The collection of four products of meiosis
found in each ascus is called a tetrad.

Nomenclature conventions of Saccharomyces cerevisiae:
       Capital letters indicate dominant alleles (e.g. HIS4, or sometimes just +)
       Lower case letters indicate recessive alleles (e.g. his4)
       Usually, the wild-type allele is the dominant one (e.g. HIS4+)

We characterize tetrads based upon the number of parental and recombinant spores they
contain.  Consider a cross between an a-mating type haploid yeast strain of genotype HIS4 trp1
with an α-mating type haploid yeast strain of the opposite genotype his4 TRP1.  These two genes
are unlinked.  What are the possible kinds of tetrads that result when the resulting diploid strain
undergoes meiosis?

Parental ditype (PD): A tetrad containing 4 haploid cells of the parental class.
Nonparental ditype (NPD): A tetrad containing 4 recombinant haploid cells (the two parental
classes have recombined to form the reciprocal nonparental combination of alleles).
Tetratype (T): A tetrad containing four kinds of haploid cells, two different parental class spores
and two different recombinant class spores.  In crosses involving 2 unlinked genes, tetratypes
arise when a crossover occurs between one of the two genes and its centromere.

If PD = NPD, then the two genes are unlinked (either they are located on different
chromosomes, or they are far apart on the same chromosome).  Think independent assortment
here (50% recombination frequency).  Since all Ts (no matter how many) are 50% parental and
50% recombinant, then the only way that 50% of the total number of haploid progeny spores can
be 50% recombinant is if the number of PDs (100% parental class) equals the number of NPDs
(100% recombinant).

If PD >> NPD, then the two genes are linked.  When PD >> NPD, the haploid spores of the
parental class significantly outnumber the haploids of the recombinant class, a sign of linkage.
Consider and example of two linked genes, ARG3 and URA2.
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P:             arg3 ura2      x      ARG3 URA2
Diploid:       arg3 ura2 / ARG3 URA2

Meiotic products:
PD (arg3 ura2; arg3 ura2; ARG3 URA2; ARG3 URA2) = 127
NPD (arg3 URA2; arg3 URA2; ARG3 ura2; ARG3 ura2) = 3
T: (arg3 ura2; arg3 URA2; ARG3 ura2; ARG3 URA2) = 70

Recombination frequency, RF = [(NPD + 1/2T) / total number of tetrads] x 100.  In our example,
this is ([3 + 1/2(70)]/200) x 100 = 19 map units.  We will modify the equation to obtain a better
estimate of map distance.  If you draw out the possible crossover events between two linked
genes, you can see the different tetrads that result; see Fig. 5.17 (p. 147).

No crossovers                       --------> PD
Single crossover                   --------> T
Double crossover (2-strand) --------> PD
Double crossover (3-strand) --------> T
Double crossover (3-strand) --------> T
Double crossover (4-strand) --------> NPD

You can see how we can modify the equation to make it more accurate.  Remember that half
(2/4) the strands recombine if there is a single crossover event and that 4 strands recombine if
there is a double crossover event (even if all of the strands don’t participate, some participate
more than once.)

Map distance = (total rec. events / total tetrads) x 100 = [(1/2[SCO] + DCO) / total tetrads] x 100
Map distance = ([1/2 (T – 2 NPD) + 4 NPD]/ total tetrads) x 100
Map distance = (1/2 T + 3 NPD) / total tetrads x 100
For our example above, map distance = ([1/2 (70) + 3 (3)] / 200) x 100 = 22 map units

This modified equation makes 2 assumptions: (1) there are no more than two crossovers in the
interval and (2) there is no chromosomal interference (all types of DCOs occur with equal
frequency.


